Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name : Microprocessor and Assembly Language Programming
Subject Code : 2TE04MPL1 Branch: Diploma (CE)
Semester : 4 Date : 26/04/2019  Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
a) Which bus is Uni-directional in 8085 MP?
(A. Address (B. Data (C. Input (D. Output
b) JNC instruction is depends on which flag register in 8085 MP?
(A. Zero (B. Parity
(C. Complement (D. Carry
c) Address bus size of 8085 Microprocessor is .
(A. 8 bit (B. 16 byte
(C. 32 byte (D. 16 bit
d) Which one is non- vector interrupt .
(A. INTR (B.RST 7.5
(C. TRAP (D.RST 5.5
e) Which language is understand by computer?
(A. High level (B. Assembly level
(C. Machine level (D. None of above
f)  What is/are function of Execution Unit?
(A. Fetch data (B. Memory read
(C. Memory write (D. Perform execution.
g) STA 2005 is byte of instruction.
(A.1 (B.3
(C.2 (D. 4
h)  Which register store address of next instruction that to be executed by CPU?
(A.SP (B.PC
(C.BP (D. All above.
i) Which of the pin is responsible for serial input of data in 8085 MP?
(A. SOD (B. SID (C. sol (D.SIO
j)  What is the size of AR register in 8085?
(A. 12 bit (B. 12byte (C. 16 byte (D. 16 bit.
k)  Which group of instructions does not affect the flags?
(A. Arithmetic (B. Data Transfer
(C. Logical (D. None of above
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[) 8086 MP is how many bit processor ?

(A. 60 (B. 15 (C.16 (D.8
m) Which one is example of implicit addressing mode?
(A. MVI A05 (B. LDA 3005
(C. MOV AB (D. CMA
n) The PF is known as Flag.
(A. Priority (B. Positive (C. Parity (D. Push flag

Attempt any four questions from Q-2 to Q-8

Q-2

Q-7

Q-8

()
(b)

()
(b)

()
(b)

()
(b)

()
(b)

()
(b)

()
(b)

Attempt all questions

Write short note on 1. Address bus, data bus and control bus of 8085 MP. 2. (07)

Different characteristics of Microprocessor.

Explain different type of interrupt maskable, non-maskable, vector, non-vector (07)

with example.

Attempt all questions

Draw pin diagram of 8085 MP and Explain any six pins. (07)

What is memory? Explain different classification of memory. (07)

Attempt all questions

Explain following instruction: 1. ANA 2. SUI 3. RAR 4. MVI 5. CMP 6. LDA (07)

7.ADI

Explain Register Organization of 8086 MP. (07)

Attempt all questions

Draw and explain architecture of 8085 MP. (07)

Draw and Explain Memory bank system of 8086 MP. (07)

Attempt all questions

Draw pin diagram of 8086 MP and Explain any 6 pin. (07)

Write Assembly language program that perform multiplication of two numbers. (07)

Attempt all questions

Explain different Addressing mode available in 8085 MP. (07)

Draw and explain timing signal diagram for MVI A, 10. (07)

Attempt all questions

Compare 8085 MP with 8086 MP. (07)

Write Assembly language program that prove De’morgan theorem. (07)
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Q-1

d)

f)

9)

h)

)

K)

Attempt the following questions: (14)

8085 WHUIHL 5& ot Al (221 B2

LA (ol 3at Rl setye (Sl auGeye

JNC Uoll 8085 AMUIHL sl $AL st & Aoll UR (AelR 82
ELAA ol wRA RILyrs  (SL33L

8085 HIE S WRAUR ol AUJU ol ULEses .

(A. 8 (A2 (B. 16 Gll&52

(C. 32 sll&se (D. 16 (A2

(Qot-AseR WD 52 B A 510 B?.

(A. INTR (B.RST 7.5
(C. TRAP (D.RST 5.5

5112022 GlRU & GUML UM% ASIA B?
(A GRUL R (ol AAAl 2R

R 12llot 2R (SL GUASAHI 81E otel
AsHsY ot Y] 9 / 9 sl B?

AL ad 8 3a (ol AU aidl

(L AHI Al (Sl AHA UCLAL

STA 2005 is byte of instruction.
(A1 (B.3
(C.2 (D. 4

CPU glRL Assfe sl M2 ALl yUollatl sl AB2R RAR UM B?
L AUl (ol Ll @ ol Ll (SL GuRell wedl.

8085 WHUHI 3etell Alauct Botye HIZ 52l Aot HAUHER B?
(A. SOD (B.SID  (C.SOl (D.SIO

8085 Hi A#R lluglls s 9 &?

(A.12bit  (B. 12byte (C.16 byte (D. 16 bit,

2l ol YAl $AA UUR $cll ol?

(A. Arithmetic (B. Data Transfer
(C. Logical (D. Non of above.

8086 AHU| ¥2cl (e WAMR B?
(A 60 (oll .15 (A .16 (SL. 8

IMPLICIT dolltdet H\So] GELERQL 53 ©?

(A. MVI A,05 (B. LDA 3005
(C. MOV AB (D.CMA
EREE el 3% Al 2 8.
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(AL Ultlecll (ofl. esRieus (Rl Q8L (sl yau s@ol

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

Q-8

()

(b)

()

(b)

()

(b)

(@)
(b)

()
(b)

()
(b)

()
(b)

Attempt all questions

28l olltl AUl 1. AJAU oL, 32l o ol 8085 AHUlell 52l v, 2. (07)

HBSNRAURA QAU ctald s Al

€L %EL USRell (AAUA AU HIRSAGA, ollol-HIRSGA, ASSR, ollot- (07)

AseR GeleRMU 33,

Attempt all questions

8085 AHUlo{l Lot stauouM ERL U SlEFURL 9 Mot AU AL (07)

AU 9 B? Alett QAU cd(lsuLe(l UM (07)

Attempt all questions

o{lActl YA UHACA: 1. AAABN 2. AUYUE 3. URIUUR 4. (07)

AU 5. AlAHUL 6. AASIA 7. AS|2uE.

8086 WHUlall ollugll iotsatell MLl (07)

Attempt all questions

8085 AWHUlo] w((E25UR €A el AH LAl (07)

8086 AHUlo(l A dls R@eH €13 wal UHestAl. (07)

Attempt all questions

8086 WHUlo{l Mot slaoum €12 U SleSuRl 6 Mot UMl €L (07)

AL Gl YUH AL B A sHISle] JJRUSIR 53 . (07)

Attempt all questions

8085 WHULHL gel el WZROL Hsa Al (07)

MVI A,10 HI2 2L8ol Roetct stautalt €11 Aal MLl (07)

Attempt all questions

8086 WHUl AA 8085 AHUloll AuHR(l 52, (07)

AAIA AL YoUH Al @ Slolet ydy wld 52 8. (07)
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